
MAY’ 2017

1www.teknorot.com



MAY’ 2017

1www.teknorot.com

ACURA

Lenght: 199 mm.  B (Bolt metric) : M12X1,25  C (Housing Metric) : M14x1,5  Weight: 732gr

ADAPTABLE FORTEKNOROT REF NO  AC-121

ACURA

STEERING TIE ROD END (FRONT LEFT)

Lenght: 199 mm.  B (Bolt metric) : M12X1,25  C (Housing Metric) : M14x1,5  Weight: 732gr

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

TL 3rd Gen, UA6-
UA7 2003-2008 FRONT LEFT 53560SEPA02

ADAPTABLE FORTEKNOROT REF NO  AC-122

CHEVROLET

STEERING TIE ROD END (FRONT LEFT & RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

MALIBU 5th Gen 1997-2003 FRONT LEFT & 
RIGHT

89047756

ADAPTABLE FORTEKNOROT REF NO  CH-341

STEERING TIE ROD END (FRONT RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

TL 3rd Gen, UA6-
UA7 2003-2008 FRONT RIGHT 53540SEPA02



MAY’ 2017

2www.teknorot.com

CONTROL ARM AND BALL JOINT ASSEMBLY  (FRONT RIGHT LOWER)

CONTROL ARM AND BALL JOINT ASSEMBLY  (FRONT LEFT LOWER)

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

SB 945 BUSHING LEFT & RIGHT PART OF 92236898

CHEVROLET

Lenght: 445 mm.  B (Bolt metric) : M14X2  C (Housing Metric) : Ø14.2  Weight: 3950 gr

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

CAMARO 5th Gen 2010-2015 FRONT RIGHT
LOWER

92236898

ADAPTABLE FORTEKNOROT REF NO  CH-638

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

SB 945 BUSHING LEFT & RIGHT PART OF 92236899

CHEVROLET

Lenght: 445 mm.  B (Bolt metric) : M14X2  C (Housing Metric) : Ø14.2  Weight: 3950 gr

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

CAMARO 5th Gen 2010-2015 FRONT LEFT
LOWER

92236899

ADAPTABLE FORTEKNOROT REF NO  CH-639



MAY’ 2017

3www.teknorot.com

CHEVROLET

STEERING TIE ROD END (FRONT LEFT & RIGHT)

Weight: 458 gr

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

CAMARO 4th Gen 1993-2002 FRONT LEFT & 
RIGHT

21011027

ADAPTABLE FORTEKNOROT REF NO  CH-651

PONTIAC

STEERING TIE ROD END (FRONT LEFT & RIGHT)

Weight: 458 gr

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

FIREBIRD 4th Gen 1993-2002 FRONT LEFT & 
RIGHT

21011027

ADAPTABLE FORTEKNOROT REF NO  CH-651



MAY’ 2017

4www.teknorot.com

BUICK

CONTROL ARM AND BALL JOINT ASSEMBLY (FRONT RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

ENCLAVE 1st Gen 2007-2014 FRONT RIGHT 20774419

ADAPTABLE FORTEKNOROT REF NO  CH-918

Weight: 4638 gr

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

CH-915 BALL JOINT LEFT & RIGHT 19207521

GMC

CONTROL ARM AND BALL JOINT ASSEMBLY (FRONT RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

ACADIA 1st Gen 2007-2014 FRONT RIGHT 20774419

ADAPTABLE FORTEKNOROT REF NO  CH-918

Weight: 4638 gr

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

CH-915 BALL JOINT LEFT & RIGHT 19207521



MAY’ 2017

5www.teknorot.com

CHEVROLET

CONTROL ARM AND BALL JOINT ASSEMBLY (FRONT RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

TRAVERSE 1st Gen 2008-2015 FRONT RIGHT 20774419

ADAPTABLE FORTEKNOROT REF NO  CH-918

Weight: 4638 gr

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

CH-915 BALL JOINT LEFT & RIGHT 19207521

BUICK

CONTROL ARM AND BALL JOINT ASSEMBLY (FRONT LEFT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

ENCLAVE 1st Gen 2007-2014 FRONT LEFT 25995438

ADAPTABLE FORTEKNOROT REF NO  CH-919

Weight: 4638 gr

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

CH-915 BALL JOINT LEFT & RIGHT 19207521



MAY’ 2017

6www.teknorot.com

CHEVROLET

CONTROL ARM AND BALL JOINT ASSEMBLY (FRONT LEFT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

TRAVERSE 1st Gen 2008-2015 FRONT LEFT 25995438

ADAPTABLE FORTEKNOROT REF NO  CH-919

Weight: 4638 gr

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

CH-915 BALL JOINT LEFT & RIGHT 19207521

GMC

CONTROL ARM AND BALL JOINT ASSEMBLY (FRONT LEFT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

ACADIA 1st Gen 2007-2014 FRONT LEFT 25995438

ADAPTABLE FORTEKNOROT REF NO  CH-919

Weight: 4638 gr

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

CH-915 BALL JOINT LEFT & RIGHT 19207521



MAY’ 2017

7www.teknorot.com

PEUGEOT

LATERAL ARM (REAR RIGHT UPPER)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

407 1st Gen 2004-2011 REAR RIGHT 
UPPER 

5175CP - 5175CH

ADAPTABLE FORTEKNOROT REF NO  CI-638

Weight: 2711

PEUGEOT

LATERAL ARM (REAR RIGHT UPPER)

Weight: 2711

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

508 1st Gen 2011- REAR RIGHT 
UPPER

5175CP - 5175CH

ADAPTABLE FORTEKNOROT REF NO  CI-638

Weight: 2711

CITROEN

LATERAL ARM (REAR RIGHT UPPER)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

C5 III(RD) 2008-2015 REAR RIGHT 
UPPER

5175CP - 5175CH

ADAPTABLE FORTEKNOROT REF NO  CI-638



MAY’ 2017

8www.teknorot.com

CITROEN

LATERAL ARM (REAR RIGHT UPPER)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

C6 (TD) 2005- REAR RIGHT 
UPPER

5175CP - 5175CH

ADAPTABLE FORTEKNOROT REF NO  CI-638

Weight: 2711

PEUGEOT

LATERAL ARM (REAR LEFT UPPER)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

407 1st Gen 2004-2011 REAR LEFT 
UPPER

5175CN - 5175CG

ADAPTABLE FORTEKNOROT REF NO  CI-639

Weight: 2711

PEUGEOT

LATERAL ARM (REAR LEFT UPPER)

Weight: 2711

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

508 1st Gen 2011- REAR LEFT 
UPPER

5175CN - 5175CG

ADAPTABLE FORTEKNOROT REF NO  CI-639



MAY’ 2017

9www.teknorot.com

Weight: 2711

CITROEN

LATERAL ARM (REAR LEFT UPPER)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

C5 III(RD) 2008-2015 REAR LEFT 
UPPER

5175CN - 5175CG

ADAPTABLE FORTEKNOROT REF NO  CI-639

CITROEN

LATERAL ARM (REAR LEFT UPPER)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

C6 (TD) 2005- REAR LEFT 
UPPER

5175CN - 5175CG

ADAPTABLE FORTEKNOROT REF NO  CI-639

Weight: 2711

DODGE

STEERING TIE ROD END (FRONT RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

STRATUS 2nd Gen 1995-2006 FRONT RIGHT 5094006AA

ADAPTABLE FORTEKNOROT REF NO  CR-401

Lenght: 152 mm.  B (Bolt metric) : M12X1,25  C (Housing Metric) : M14X1,5  Weight: 820 gr



MAY’ 2017

10www.teknorot.com

CHRYSLER

STEERING TIE ROD END (FRONT RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

SEBRING (FJ/JX) - 
(ST-22/JR) 1995-2006 FRONT RIGHT 5094006AA

ADAPTABLE FORTEKNOROT REF NO  CR-401

PLYMOUTH

STEERING TIE ROD END (FRONT RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

BREEZE 1st Gen 1996-2000 FRONT RIGHT 5094006AA

ADAPTABLE FORTEKNOROT REF NO  CR-401

DODGE

STEERING TIE ROD END (FRONT LEFT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

STRATUS 2nd Gen 1995-2006 FRONT LEFT 5093857AA

ADAPTABLE FORTEKNOROT REF NO  CR-402

Lenght: 152 mm.  B (Bolt metric) : M12X1,25  C (Housing Metric) : M14X1,5  Weight: 820 gr

Lenght: 152 mm.  B (Bolt metric) : M12X1,25  C (Housing Metric) : M14X1,5  Weight: 820 gr

Lenght: 152 mm.  B (Bolt metric) : M12X1,25  C (Housing Metric) : M14X1,5  Weight: 820 gr



MAY’ 2017

11www.teknorot.com

CHRYSLERADAPTABLE FORTEKNOROT REF NO  CR-402

PLYMOUTH

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

BREEZE 1st Gen 1996-2000 FRONT LEFT 5093857AA

ADAPTABLE FORTEKNOROT REF NO  CR-402

CHRYSLER 

STEERING TIE ROD END (FRONT LEFT & RIGHT)

ADAPTABLE FORTEKNOROT REF NO  CR-411

B (Bolt metric) : M10X1,25 C (Housing Metric) : M17X1.5  Weight: 412 gr

Lenght: 152 mm.  B (Bolt metric) : M12X1,25  C (Housing Metric) : M14X1,5  Weight: 820 gr

Lenght: 152 mm.  B (Bolt metric) : M12X1,25  C (Housing Metric) : M14X1,5  Weight: 820 gr

CHRYSLER

STEERING TIE ROD END (FRONT LEFT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

SEBRING (FJ/JX) - 
(ST-22/JR) 1995-2006 FRONT LEFT 5093857AA

ADAPTABLE FOR

PLYMOUTH

STEERING TIE ROD END (FRONT LEFT)

ADAPTABLE FOR

CHRYSLER 

STEERING TIE ROD END (FRONT LEFT & RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

CONCORDE 2nd Gen 1998-2004 FRONT LEFT & 
RIGHT

5086282AA - 5003930AA

ADAPTABLE FORTEKNOROT REF NO  CR-411

B (Bolt metric) : M10X1,25 C (Housing Metric) : M17X1.5  Weight: 412 gr



MAY’ 2017

12www.teknorot.com

CHRYSLER 

SUSPENSION STABILIZER BAR LINK (FRONT LEFT & RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

CONCORDE 2nd Gen 1998-2004 FRONT LEFT & 
RIGHT

04782254AB

ADAPTABLE FORTEKNOROT REF NO  CR-416

Lenght: 321 mm.  B (Bolt metric) : M12X1,75  Weight: 833 gr

CHRYSLER 

STEERING TIE ROD END (FRONT LEFT & RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

300M 1st Gen 1998-2004 FRONT LEFT & 
RIGHT

5086282AA - 5003930AA

ADAPTABLE FORTEKNOROT REF NO  CR-411

B (Bolt metric) : M10X1,25 C (Housing Metric) : M17X1.5  Weight: 412 gr

DODGE

STEERING TIE ROD END (FRONT LEFT & RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

INTREPID 2nd Gen 1998-2004
FRONT LEFT & 

RIGHT
5086282AA - 5003930AA

ADAPTABLE FORTEKNOROT REF NO  CR-411

B (Bolt metric) : M10X1,25 C (Housing Metric) : M17X1.5  Weight: 412 gr



MAY’ 2017

13www.teknorot.com

JEEP

SUSPENSION STABILIZER BAR LINK (REAR LEFT & RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

GRAND CHEROKEE WK2 2010- FRONT LEFT & 
RIGHT

68069682AA

ADAPTABLE FORTEKNOROT REF NO  DO-136

Lenght: 117 mm.  B (Bolt metric) : M12X1,5  Weight: 492 gr

DODGE

SUSPENSION STABILIZER BAR LINK (REAR LEFT & RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

DURANGO (STANDART TYPE) 3rd Gen 2010- REAR LEFT & 
RIGHT

68069682AA

ADAPTABLE FORTEKNOROT REF NO  DO-136

Lenght: 117 mm.  B (Bolt metric) : M12X1,5  Weight: 492 gr

CHRYSLER

SUSPENSION STABILIZER BAR LINK (FRONT LEFT & RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

300M 1st Gen 1998-2004 FRONT LEFT & 
RIGHT

04782254AB

ADAPTABLE FORTEKNOROT REF NO  CR-416

Lenght: 321 mm.  B (Bolt metric) : M12X1,75  Weight: 833 gr



MAY’ 2017

14www.teknorot.com

FORD

CONTROL ARM AND BALL JOINT ASSEMBLY (FRONT RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

B-MAX 1st Gen 2012- FRONT RIGHT 1751952 - 1834054

ADAPTABLE FORTEKNOROT REF NO  FO-548

Weight: 2674 gr

FORD

STEERING TIE ROD (FRONT LEFT & RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

MONDEO EUROPE MADE 09/2014- FRONT LEFT & 
RIGHT

1824228 - DG9C3D032BA

ADAPTABLE FORTEKNOROT REF NO  FO-393

Lenght: 304,5 mm.  B (Bolt metric) : M18X1,5  C (Housing Metric) : M16X1,5 Weight: 724 gr

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

SB 1002 SMALL BUSHING LEFT & RIGHT
PART OF 

1751952 - 1834054

SB 263 BIG BUSHING LEFT & RIGHT
PART OF 

1751952 - 1834054

FO-234 BALL JOINT LEFT & RIGHT
PART OF 

1751952 - 1834054



MAY’ 2017

15www.teknorot.com

FORD

CONTROL ARM AND BALL JOINT ASSEMBLY (FRONT RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

COURIER 1st Gen 2014- FRONT RIGHT 1751952 - 1834054

ADAPTABLE FORTEKNOROT REF NO  FO-548

Weight: 2674 gr

FORD

CONTROL ARM AND BALL JOINT ASSEMBLY (FRONT LEFT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

B-MAX 1st Gen 2012- FRONT LEFT 1751955 - 1834055

ADAPTABLE FORTEKNOROT REF NO  FO-549

Weight: 2674 gr

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

SB 1002 SMALL BUSHING LEFT & RIGHT
PART OF 

1751955 - 1834055

SB 263 BIG BUSHING LEFT & RIGHT
PART OF 

1751955 - 1834055

FO-234 BALL JOINT LEFT & RIGHT
PART OF 

1751955 - 1834055

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

SB 1002 SMALL BUSHING LEFT & RIGHT
PART OF 

1751952 - 1834054

SB 263 BIG BUSHING LEFT & RIGHT
PART OF 

1751952 - 1834054

FO-234 BALL JOINT LEFT & RIGHT
PART OF 

1751952 - 1834054



MAY’ 2017

16www.teknorot.com

FORD

CONTROL ARM AND BALL JOINT ASSEMBLY (FRONT LEFT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

COURIER 1st Gen 2014- FRONT LEFT 1751952 - 1834054

ADAPTABLE FORTEKNOROT REF NO  FO-549

Weight: 2674 gr

HONDA

LATERAL ARM (REAR RIGHT UPPER)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

CR-V II
03/2002-
09/2006

REAR RIGHT
UPPER

52390 S9A981 - 52390S9A980

ADAPTABLE FORTEKNOROT REF NO  H-414

Lenght: 261,5mm Weight: 738 gr

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

SB 1002 SMALL BUSHING LEFT & RIGHT
PART OF 

1751955 - 1834055

SB 263 BIG BUSHING LEFT & RIGHT
PART OF 

1751955 - 1834055

FO-234 BALL JOINT LEFT & RIGHT
PART OF 

1751955 - 1834055

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

SB 812 BUSHING LEFT & RIGHT
PART OF 

52390 S9A981 - 52390S9A980



MAY’ 2017

17www.teknorot.com

HONDA

LATERAL ARM (REAR LEFT UPPER)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

CR-V II
03/2002-
09/2006

REAR LEFT 
UPPER

52400 S9A981 - 52400S9A980

ADAPTABLE FORTEKNOROT REF NO  H-415

Lenght: 261,5mm Weight: 738 gr

ACURA 

STEERING TIE ROD END (FRONT LEFT & RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

RSX 2nd Gen 2002-2006 FRONT LEFT & 
RIGHT

53541S7A003

ADAPTABLE FORTEKNOROT REF NO  H-631

Lenght: 60 mm  B (Bolt metric): M12X1,25  C (Housing Metric): M14X1,5 Weight: 270 gr

HONDA

STEERING TIE ROD END (FRONT LEFT & RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

ELEMENT 1st Gen 2003-2011 FRONT LEFT & 
RIGHT

53541S7A003

ADAPTABLE FORTEKNOROT REF NO  H-631

Lenght: 60 mm  B (Bolt metric): M12X1,25  C (Housing Metric): M14X1,5 Weight: 270 gr

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

SB 812 BUSHING LEFT & RIGHT
PART OF 

52400 S9A981 - 52400S9A980



MAY’ 2017

18www.teknorot.com

HONDA

STEERING TIE ROD END (FRONT LEFT & RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

CR-V
 (Only : 2.2 CDTI  02/2005- 

09/2006)
II 2000-2006 FRONT LEFT & 

RIGHT
53541S7A003

ADAPTABLE FORTEKNOROT REF NO  H-631

Lenght: 60 mm  B (Bolt metric): M12X1,25  C (Housing Metric): M14X1,5 Weight: 270 gr

HONDA

STEERING TIE ROD END (FRONT LEFT & RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

STREAM RN 2000-2006 FRONT LEFT & 
RIGHT

53541S7A003

ADAPTABLE FORTEKNOROT REF NO  H-631

Lenght: 60 mm  B (Bolt metric): M12X1,25  C (Housing Metric): M14X1,5 Weight: 270 gr

HONDA

SUSPENSION STABILIZER BAR LINK (REAR RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

STREAM RN 2000-2006 REAR RIGHT 52320S7A003

ADAPTABLE FORTEKNOROT REF NO  H-636

Lenght: 75 mm.  B (Bolt metric): M10X1,25 Weight: 220 gr



MAY’ 2017

19www.teknorot.com

HONDA

ACURA

STEERING TIE ROD END (FRONT RIGHT)

STEERING TIE ROD END (FRONT RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

PILOT 1st Gen 2003-2008 FRONT RIGHT 53540S3VA02  - ES3716

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

MDX YD1 2001-2006 FRONT RIGHT 53540S3VA02  - ES3716

ADAPTABLE FOR

ADAPTABLE FOR

TEKNOROT REF NO  H-641

TEKNOROT REF NO  H-641

Weight: 862 gr

Weight: 862 gr

HONDA

SUSPENSION STABILIZER BAR LINK (REAR LEFT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

STREAM RN 2000-2006 REAR LEFT 52321S7A003

ADAPTABLE FORTEKNOROT REF NO  H-637

Lenght: 75 mm.  B (Bolt metric): M10X1,25 Weight: 220 gr



MAY’ 2017

20www.teknorot.com

HONDA

SUSPENSION STABILIZER BAR LINK (REAR RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

PILOT 1st Gen 2003-2008 REAR RIGHT 52320S3V023

ADAPTABLE FORTEKNOROT REF NO  H-646

Lenght: 145 mm  B (Bolt metric): M10X1,25 Weight: 250 gr

HONDA

ACURA

STEERING TIE ROD END (FRONT LEFT)

STEERING TIE ROD END (FRONT LEFT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

PILOT 1st Gen 2003-2008 FRONT LEFT 53560S3VA02  - ES3717

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

MDX YD1 2001-2006 FRONT LEFT 53560S3VA02  - ES3717

ADAPTABLE FOR

ADAPTABLE FOR

TEKNOROT REF NO  H-642

TEKNOROT REF NO  H-642

Weight: 862 gr

Weight: 862 gr



MAY’ 2017

21www.teknorot.com

HONDA

SUSPENSION STABILIZER BAR LINK (REAR LEFT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

PILOT 1st Gen 2003-2008 REAR LEFT 52325S3V023

ADAPTABLE FORTEKNOROT REF NO  H-647

Lenght: 145 mm  B (Bolt metric): M10X1,25 Weight: 250 gr

ACURA

SUSPENSION STABILIZER BAR LINK (REAR RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

MDX YD1 2001-2006 REAR RIGHT 52320S3V023

ADAPTABLE FORTEKNOROT REF NO  H-646

Lenght: 145 mm  B (Bolt metric): M10X1,25 Weight: 250 gr

ACURA

SUSPENSION STABILIZER BAR LINK (REAR LEFT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

MDX YD1 2001-2006 REAR LEFT 52325S3V023

ADAPTABLE FORTEKNOROT REF NO  H-647

Lenght: 145 mm  B (Bolt metric): M10X1,25 Weight: 250 gr



MAY’ 2017

22www.teknorot.com

JEEP

STEERING TIE ROD END (FRONT RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

GRAND CHEROKEE IIWJ, WG
06/1999-
05/2005

FRONT RIGHT 52088466 - 52088870AA

ADAPTABLE FORTEKNOROT REF NO  JE-141

Lenght: 244 mm C (Housing Metric): M24X1.5 Weight: 1006 gr

HYUNDAI

STEERING TIE ROD (FRONT LEFT & RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

SANTA FE III, DM 09/2012- FRONT LEFT & 
RIGHT

577242W000

ADAPTABLE FORTEKNOROT REF NO  HY-833

B (Bolt metric): M16X1,5 Weight: 556 gr

JEEP

STEERING TIE ROD END (FRONT LEFT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

GRAND CHEROKEE IIWJ, WG
06/1999-
05/2005

FRONT LEFT 52088467 - 52088869AA

ADAPTABLE FORTEKNOROT REF NO  JE-142

Lenght: 244 mm  C (Housing Metric): M24X1.5 Weight: 1006 gr



MAY’ 2017

23www.teknorot.com

KIA

STEERING TIE ROD (FRONT LEFT & RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

CARNIVAL III
06/2006-

2014
FRONT LEFT & 

RIGHT
577244D000

ADAPTABLE FORTEKNOROT REF NO  KI-263

Lenght: 211 mm  B (Bolt metric): M16X1,5  C (Housing Metric): M16X1,5 Weight: 611 gr

JEEP

SUSPENSION STABILIZER BAR LINK (FRONT LEFT & RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

WRANGLER TJ
08/1996-
03/2007

FRONT LEFT & 
RIGHT

52087771 - 52087771AB - 52087771AB

ADAPTABLE FORTEKNOROT REF NO  JE-166

Lenght: 203mm  B (Bolt metric): M10X1,5 Weight: 450 gr

KIA

STEERING TIE ROD (FRONT LEFT & RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

SEDONA III
06/2006-

2014
FRONT LEFT & 

RIGHT
577244D000

ADAPTABLE FORTEKNOROT REF NO  KI-263

Lenght: 211 mm  B (Bolt metric): M16X1,5  C (Housing Metric): M16X1,5 Weight: 611 gr



MAY’ 2017

24www.teknorot.com

LAND ROVER

LAND ROVER

CONTROL ARM AND BALL JOINT ASSEMBLY (FRONT RIGHT LOWER)

CONTROL ARM AND BALL JOINT ASSEMBLY (FRONT LEFT LOWER)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

RANGE ROVER VOGUE L405 08/2012- FRONT RIGHT 
LOWER

LR034218

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

RANGE ROVER VOGUE L405 08/2012- FRONT LEFT 
LOWER

LR034217

ADAPTABLE FOR

ADAPTABLE FOR

TEKNOROT REF NO LA-192

TEKNOROT REF NO LA-193

Weight: 3120 gr

Weight: 3120 gr

LAND ROVER

CONTROL ARM AND BALL JOINT ASSEMBLY (FRONT RIGHT LOWER)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

RANGE ROVER SPORT II, L494 04/2013- FRONT RIGHT 
LOWER

LR045243

ADAPTABLE FORTEKNOROT REF NO  LA-248



MAY’ 2017

25www.teknorot.com

MERCEDES-BENZ

SUSPENSION STABILIZER BAR LINK (FRONT RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

SLK-SERIES R172 2011- FRONT RIGHT 1723230217

ADAPTABLE FORTEKNOROT REF NO M-385A

Weight: 433 gr

MERCEDES-BENZ

SUSPENSION STABILIZER BAR LINK (FRONT LEFT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

SLK-SERIES R172 2011- FRONT LEFT 1723230117

ADAPTABLE FORTEKNOROT REF NO M-386A

Weight: 433 gr

LAND ROVER

CONTROL ARM AND BALL JOINT ASSEMBLY (FRONT LEFT LOWER)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

RANGE ROVER SPORT II, L494 04/2013- FRONT LEFT 
LOWER

LR045242

ADAPTABLE FORTEKNOROT REF NO  LA-249



MAY’ 2017

26www.teknorot.com

NISSAN

STEERING TIE ROD END (FRONT RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

SENTRA B16 2007-2012 FRONT RIGHT 48520ET00A - D8520ET00A

ADAPTABLE FORTEKNOROT REF NO N-261

Lenght: 152 mm  B (Bolt metric): M10X1,25 C (Housing Metric): M12X1,125 Weight: 500 gr

NISSAN

STEERING TIE ROD END (FRONT LEFT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

SENTRA B16 2007-2012 FRONT LEFT 48640ET00A - D8640ET00A

ADAPTABLE FORTEKNOROT REF NO N-262

Lenght: 152 mm  B (Bolt metric): M10X1,25 C (Housing Metric): M12X1,125 Weight: 500 gr

STEERING TIE ROD (FRONT LEFT & RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

X-TRAIL  3rd Gen ( T32 ) 2013- FRONT LEFT & 
RIGHT

D85214BA0A

ADAPTABLE FORTEKNOROT REF NO  N-183 NISSAN

Lenght: 229,5 mm  B (Bolt metric): M14X1,5 C (Housing Metric): M16X1,5 Weight: 500 gr



MAY’ 2017

27www.teknorot.com

SUSPENSION STABILIZER BAR LINK (FRONT LEFT & RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

ARMADA 1st Gen 2005- FRONT LEFT & 
RIGHT

546187S000

ADAPTABLE FORTEKNOROT REF NO  N-280 NISSAN

Lenght: 75 mm  B (Bolt metric): M12X1.25 Weight: 350 gr

SUSPENSION STABILIZER BAR LINK (FRONT LEFT & RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

QX56 1st Gen, JA60 2004-2010 FRONT LEFT & 
RIGHT

546187S000

ADAPTABLE FORTEKNOROT REF NO  N-280 INFINITI

Lenght: 75 mm  B (Bolt metric): M12X1.25 Weight: 350 gr

SUSPENSION STABILIZER BAR LINK (FRONT LEFT & RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

QX80 Y62 2014- FRONT LEFT & 
RIGHT

546187S000

ADAPTABLE FORTEKNOROT REF NO  N-280 INFINITI

Lenght: 75 mm  B (Bolt metric): M12X1.25 Weight: 350 gr



MAY’ 2017

28www.teknorot.com

SUSPENSION STABILIZER BAR LINK (FRONT LEFT & RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

PANAMERA 970 2009- FRONT LEFT & 
RIGHT

97034306901 - 97034306902 - 
97034306903

ADAPTABLE FORTEKNOROT REF NO  PO-507 PORSCHE

Lenght: 150 mm  B (Bolt metric): M10X1,25 Weight: 330 gr

SUSPENSION STABILIZER BAR LINK (FRONT LEFT & RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

TALISMAN 1st Gen 2015- FRONT LEFT & 
RIGHT

546187005R

ADAPTABLE FORTEKNOROT REF NO  R-920A RENAULT

Lenght: 274 mm  B (Bolt metric): M10X1,25 Weight: 220 gr

SUSPENSION STABILIZER BAR LINK (FRONT LEFT & RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

MEGANE IV 2015- FRONT LEFT & 
RIGHT

546187005R

ADAPTABLE FORTEKNOROT REF NO  R-920A RENAULT

Lenght: 274 mm  B (Bolt metric): M10X1,25 Weight: 220 gr



MAY’ 2017

29www.teknorot.com

STEERING TIE ROD END (FRONT RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

MEGANE IV 2015- FRONT RIGHT 485201340R

ADAPTABLE FORTEKNOROT REF NO  R-921 RENAULT

Lenght: 209,5mm  B (Bolt metric): M14X1,5  Weight: 370 gr

STEERING TIE ROD END (FRONT LEFT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

MEGANE IV 2015- FRONT LEFT 485206481R

ADAPTABLE FORTEKNOROT REF NO  R-922 RENAULT

Lenght: 209,5mm  B (Bolt metric): M14X1,5  Weight: 370 gr

STEERING TIE ROD END (FRONT RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

TALISMAN 1st Gen 2015- FRONT RIGHT 485201340R

ADAPTABLE FORTEKNOROT REF NO  R-921 RENAULT

Lenght: 209,5mm  B (Bolt metric): M14X1,5  Weight: 370 gr



MAY’ 2017

30www.teknorot.com

STEERING TIE ROD END (FRONT LEFT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

TALISMAN IV 2015- FRONT LEFT 485206481R

ADAPTABLE FORTEKNOROT REF NO  R-922 RENAULT

Lenght: 209,5mm  B (Bolt metric): M14X1,5  Weight: 370 gr

RENAULT

SUSPENSION BALL JOINT (FRONT LEFT & RIGHT)

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

MEGANE IV 2016- FRONT LEFT & 
RIGHT

Part of 545057449R
Part of 545045297R

ADAPTABLE FORTEKNOROT REF NO  R-925

Weight: 564 gr

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

R-928
CONTROL ARM

WITH BALL JOINT
FRONT RIGHT 545045297R

R-929
CONTROL ARM

WITH BALL JOINT
FRONT LEFT 545057449R



MAY’ 2017

31www.teknorot.com

FORD

SUSPENSION CONTROL ARM BUSHING (FRONT LEFT& RIHT)

Weight: 96

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

B-MAX 1st Gen 2012- FRONT LEFT & 
RIHT

Part of 1751952  - Part of 1751955

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

FO-548
CONTROL ARM

WITH BALL JOINT
FRONT RIGHT 1751952

FO-549
CONTROL ARM

WITH BALL JOINT
FRONT LEFT 1751955

ADAPTABLE FORTEKNOROT REF NO  SB 1002

HONDA

CONTROL ARM BUSHING (REAR LEFT & RIGHT)

Lenght: 199 mm. C (Housing Metric) : Big Bushing  Weight: 224 gr

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

CR-V II 2002-2006 FRONT RIGHT
Part of 52390S9A981
Part of 52400S9A981

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

H-414
CONTROL ARM

WITH BALL JOINT
FRONT RIGHT

52390S9A981

H-415
CONTROL ARM

WITH BALL JOINT
FRONT LEFT 52400S9A981

ADAPTABLE FORTEKNOROT REF NO  SB 812



MAY’ 2017

32www.teknorot.com

CHEVROLET

SUSPENSION CONTROL ARM BUSHING (FRONT LEFT& RIGHT)

C (Housing Metric) : Big Bushing

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

CAMARO 5th Gen 2010-2015 FRONT LEFT & 
RIGHT

Part of 92236898 - Part of 92236899

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

CH-638
CONTROL ARM 

WITH BALL JOINT 
ASSEMBLY

FRONT RIGHT 92236898

CH-639
CONTROL ARM 

WITH BALL JOINT 
ASSEMBLY

FRONT LEFT 92236899

ADAPTABLE FORTEKNOROT REF NO  SB 945

TOYOTA

CONTROL ARM AND BALL JOINT ASSEMBLY (FRONT RIGHT)

Weight: 4600 gr

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

HIGHLANDER XU40,XU50 2008-2016 FRONT RIGHT 480680T011

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

T-284 BALL JOINT RIGHT 4333009780

ADAPTABLE FORTEKNOROT REF NO  T-288



MAY’ 2017

33www.teknorot.com

LEXUS

CONTROL ARM AND BALL JOINT ASSEMBLY (FRONT RIGHT)

Weight: 4600 gr

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

RX 350 AL 10 2010 - 2016 FRONT RIGHT 480680T011

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

T-284 BALL JOINT RIGHT 4333009780

ADAPTABLE FORTEKNOROT REF NO  T-288

LEXUS

CONTROL ARM AND BALL JOINT ASSEMBLY (FRONT RIGHT)

Weight: 4600 gr

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

RX 450H AL 10 2008-2016 FRONT RIGHT 480680T011

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

T-284 BALL JOINT RIGHT 4333009780

ADAPTABLE FORTEKNOROT REF NO  T-288



MAY’ 2017

34www.teknorot.com

TOYOTA

CONTROL ARM AND BALL JOINT ASSEMBLY (FRONT RIGHT)

Weight: 4600 gr

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

VENZA 1st Gen 2009 - 2016 FRONT RIGHT 480680T011

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

T-284 BALL JOINT RIGHT 4333009780

ADAPTABLE FORTEKNOROT REF NO  T-288

LEXUS

CONTROL ARM AND BALL JOINT ASSEMBLY (FRONT LEFT)

Weight: 4600 gr

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

RX 350 AL10 2010 - 2016 FRONT LEFT 480690T011

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

T-285 BALL JOINT LEFT 4334009140

ADAPTABLE FORTEKNOROT REF NO  T-289



MAY’ 2017

35www.teknorot.com

TOYOTA

CONTROL ARM AND BALL JOINT ASSEMBLY (FRONT LEFT)

Weight: 4600 gr

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

HIGHLANDER XU40, XU50 2008-2016 FRONT LEFT 480690T011

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

T-285 BALL JOINT LEFT 4334009140

ADAPTABLE FORTEKNOROT REF NO  T-289

LEXUS

CONTROL ARM AND BALL JOINT ASSEMBLY (FRONT LEFT)

Weight: 4600 gr

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

RX 450H AL10 2010 - 2016 FRONT LEFT 480690T011

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

T-285 BALL JOINT LEFT 4334009140

ADAPTABLE FORTEKNOROT REF NO  T-289



MAY’ 2017

36www.teknorot.com

TOYOTA

CONTROL ARM AND BALL JOINT ASSEMBLY (FRONT LEFT)

Weight: 4600 gr

MODEL NO BODY CODE YEAR DIRECTIONS OEM NO

VENZA 1st Gen 2009-2016 FRONT LEFT 480690T011

COMPONENTS NUMBER NAME DIRECTIONS OEM NO 

T-285 BALL JOINT LEFT 4334009140

ADAPTABLE FORTEKNOROT REF NO  T-289


